Y )

FIRST STANDARD PARALLEL SOUTH, through RANGE 49 EAST,

| CHAINS

140,00

80,00

40,00

N

| groove on E.and 5 grooves on W,faces,dig pits,24x18x12 ins.
' crosswise on.each.line,F.and.¥W.,3 ft.and N,of stone,7 ft.|

fdist, and raise a mound of" earth,4 ft.base,2 ft.high,

' No timber: undergrowth,greasewood and shad scale,

Fast,on S.bdy.of seec,35,

Over level sandy land,through dense undergrowth,

Wash,50 lks.wide,5 ft,deep,course S.E. . . f

Difference hetween méasurement of 40,00 chs.by two sets of

chainmen is 8 lks,.,position of middle voint
By 1st.set,40.04 ‘¢hs.,
By 2nd.set,39.96 chs.,the mean of which is
Set a basalt stone,15x7x6 'ins.,10 ins.in the ground, for

stundard 4 sec.cor,,marked S €-4 on N.fsce,dig pits,18x18

x12 ins.,®E and W,of .stone,3 ft.,dist.,and raise a mound of]
earth,3; rt.hage,1; ri.high,N.of cor. |
Difference between measurement of 80.OOAchs,by two sets
of chainmen is 4 1ks,,vosition of middle point,

By lst.set?80.o2 chg.;

Ry an.sef,%9.98\0h3¢,the mean of which is
Set a limestone,15x12x5 ins.,10 ins.in the ground, for

standard cor,of secs.35 and 36,marked S ¢ on N,with 1

N.of cor.

Land,rolling, " " J

Seil,sandy, 3rd, rate,

x
East,on S,bdy,of éec.za. : é
Over level,sandy lahd,through dense undergrowth..
Difference between measurement of 40,00 chs.,by two sets |
of chainﬁen is 4 1ks.,p§sition of middle point |
By 1st.set,40.02 chs., '
By 2nd.set,39.98 chs., the mean of which dis
Set a basalt stohe,inGxS‘ina.,lO ins.in the ground, for
standard iisec.cor;;ﬂarkéd S ¢ L on N.face,dig pi?s,

18x18x12 ins,,E.,and W,of stone,3 ft.dist.,and raise a

]




